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1. Select the word that is closest
in meaning (SYNONYM) to the
word given below.
Levitate
(1) Float (2) Laydown
(3) Rusticate (4) Walk

2. Choose the word that methe
same as the given word.
Fabricate
(1) Mimic (2) Detached
(3) Concoct (4) Flatten

3. Find the part of the given
sentence that has an error in
it. If there is no error, choose 'No
error'.
Vijay and Ajay is here to
celebrate 7 years of their
friendship.
(1) of their friendship.
(2) No error
(3) to celebrate 7 years
(4) Vijay and Ajay is here

4. Rearrange the parts of the
sentence in correct order.
It is not uncommon
P. for parents and others in a

particular animal
Q. group to teach their young

through example how to
R. of drought or other

environmental change
S. find food or water when it

becomes scarce because
(1) PQSR (2) SPRQ
(3) QSPR (4) PQRS

5. Select the correct indirect form
of the given sentence.
Tina said, "My parents are
getting divorced."
(1) Tina said that her parents are

getting divorced.
(2) Tina said that her parents

were get divorced.
(3) Tina said that her parents

have been getting divorce.
(4) Tina said that her parents

were getting divorced.
6. Rearrange the parts of the

sentence in correct order.
P. despite pandemic-related

travel complications, the
Q. governments of India and

France facilitated interactions

2

22
SET CHSL (TIER–1) 2022
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R. NPCIL a binding techno-
commercial offer on 22 April
2021

S. between EDF and NPCIL
which allowed EDF to
submit to

(1) RQSP (2) QRSP
(3) RPSQ (4) PQSR

7. Select the most appropriate one-
word substitution for the given
group of words.
A person who attacks or
criticizes cherished beliefs or
institutions.
(1) Iconoclast (2) Impregnable
(3) Immoral   (4)  Insolvent

8. Improve the underlined part of the
sentence. Choose 'No
improvement' as an answer if the
sentence is grammatically correct.
His words wield tremendous
influence between his followers.
(1) among his followers
(2) within his followers
(3) No improvement
(4) in his following

9. Select the word segment that
substitutes (replaces) the
bracketed word segment correctly
and completes the sentence
meaningfully. Select the option
'no correction required' if the
sentence is correct as given.
Everyone (wants to be) successful
and rich.
(1) want to be
(2) No correction required
(3) wanting to been
(4) wanted to being

10. Find the part of the given
sentence that has an error in it.
If there is no error, choose 'No
error'.
If someone you are talking to is
open of learning more, encourage
that continued curiosity.
(1) No error
(2) encourage that continued

curiosity.
(3) to is open of learning more,
(4) If someone you are talking

Exam Time:- 11:45 AM–12:45 PM

11. Fill in the blank with an
appropriate option.
My heart ______ hard, bumping
the broken glass, nicked by
sharp edges.
(1) inhibited (2) lifted
(3) thumped (4) Thundered

12. Choose the word that can
substitute the given group of
words.
The origin or birth of a thing
(1) Genesis (2) Culmination
(3) Coda (4) Quietus

13. Choose the word that methe
same as the given word.
Abandonment
(1) Profanity  (2) Dereliction
(3) Sanctity    (4) Commencement

14. Choose the sentence with no
spelling error.
(1) New sieds are made through

pollination.
(2) New seeds are made through

polination.
(3) New seeds are made

through pollination.
(4) New seeds are made

throuhg pollination.
15. Improve the underlined part of the

sentence. Choose 'No
improvement' as an answer if the
sentence is grammatically correct.
My new shoes gave me a
blistered on my right heel.
(1) me a blisters
(2) I a blister
(3) No improvement
(4) me a blister

16. Select the correct passive form
of the given sentence.
Suresh speaks French here.
(1) French is spoken here by

Suresh.
(2) French is been spoken here

by Suresh.
(3) French was spoken here by

Suresh.
(4) French are spoken here by

Suresh.
17. Select the word that is opposite

in meaning (ANTONYM) to the
word given below.
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Bulwark
(1) Assault   (2)  Rampart
(3) Bastion   (4)  Fortification

18. Choose the incorrectly spelt
word.
(1) Remark (2) Revange
(3) Recruit (4) Repeal

19. In the following question, out of
the given four alternatives,
select the alternative which
best expresses the meaning of
the Idiom/Phrase.
To lay someone by the heels
(1) To confine somebody in prison
(2) To gain support
(3) To praise someone
(4) To force someone for

something
20. In the following question, out of

the given four alternatives,
select the alternative
which best expresses the
meaning of the Idiom/Phrase.
To make one's mark
(1) To prove a point
(2) To attain success
(3) To make no effort
(4) To be indifferent

Comprehension:
In the following passage some of

the words have been deleted. Read
the passage carefully and select the
correct answer for the given blank
out of the four alternatives.

Children learn to walk and talk
naturally, (1) ______ that is not the
case with reading. Reading
strategies are designed to help your
child develop a strong reading (2)
______ one built with confidence
engagement and joy. As a parent,
you are most likely always looking
for (3) ______ that make your child
want to learn. We are here to help
you and your child on their journey
as a (4) ______ reader. Try some
reading strategy suggestions below
for kids (5) ______ are beginning to
read all the way to those reading
advanced chapter books.
21. Select the most appropriate

option to fill in blank number (1)
(1) because (2) rather
(3) when (4) But

22. Select the most appropriate
option to fill in blank number 2.
(1) presumption
(2) foundation
(3) corporation
(4) Fluctuation

23. Select the most appropriate
option to fill in blank number (3)
(1) blueprints (2) fashions
(3) techniques (4) Lines

24. Select the most appropriate
option to fill in blank number (4)
(1) budding (2) dying
(3) ripened (4) Sulking

25. Select the most appropriate
option to fill in blank number 5.
(1) whom (2) that
(3) who (4) which

1. Words given on the left side of
(::) are related with each other
by some Logic/Rule/Relation.
Select the missing word/word
pair on the right side of (::) from
the given alternatives based on
the same Logic/Rule/Relation.

(%%) ds ck;ha vksj fn, x, 'kCn vkil esa
fdlh rdZ@fu;e@laca/ }kjk lacaf/r gksrs gSaA
leku rdZ@fu;e@laca/ ds vk/kj ij fn,
x, fodYiksa esa ls (%%) ds nkbZa vksj yqIr
'kCn@'kCn ;qXe dks pqfu,A
Caterpillar : Butterfly :: ?/dSVjfiyj
% frryh %% \
(1) Tadpole : Cat/VSMiksy % fcYyh
(2) Hen : Chick/ eqxhZ % pwtk
(3) Lamb : Sheep/eseuk % HksM+
(4) Deer : Fawn/fgj.k % e`x

2. Which of the following cubes be
formed on folding the given
sheet of paper in the question?

ç'u esa nh xbZ dkxt dh 'khV dks eksM+us ij
fuEufyf•r esa ls dkSu lk ?ku cusxk\

(1)

Z

WZ (2)

W

PY

(3)

X

RP (4)

Y

ZR

3. A series is given with one term
missing. Select the correct
alternative from the given ones
that will complete the series.

,d vuqØe fn;k x;k gS ftlesa ,d in
yqIr gSA fn, x, fodYiksa esa ls og lgh
fodYi pqfu, tks J̀a•yk dks iwjk djsA
PQSS, SKBG, VEKU, YYTI, ?

(1) BMQR (2) BSDV
(3) BSRT (4) BSCW

4. Select the Venn diagram that
best represents the
relationship between the

following classes. ml osu vkjs•
dk p;u djsa tks fuEufyf•r oxks± ds chp
laca/ dks lcls vPNk n'kkZrk gSA
Animals, Dogs, Cats, Elephant

tkuoj] dqÙks] fcfYy;k¡] gkFkh

(1) (2)

(3) (4)

5. By Interchanging the given two
numbers ( not digits ) which of
the following equation will not be
correct?

nh xbZ nks la[;kvksa (vadksa dh ugha) dks
vkil esa cnyus ij fuEufyf•r esa ls
dkSu&lk lehdj.k lgh ugha gksxk\
7 and 4
I. 4 × 3 - 7 + 8 ÷ 2 = 23
II. 7 × 5 - 9 ÷ 3 + 4 = 24

(1) Neither I nor II/u rks I vkSj u
gh II

(2) Only II/dsoy II
(3) Only I/dsoy I
(4) Both I and II/I vkSj II nksuksa

6. If '÷' mean '+', '×' mean '-', '+'
mean '÷' and '-'  mean '×', then
64 ÷ 13 + 65 - 15 × 48 + 8 = ?

;fn '÷' vFkZ '+', '×' vFkZ '-', '+' vFkZ '÷'

vkSj '-' vFkZ '×'] rks 64 ÷ 13 + 65 - 15
× 48 + 8 = ?
(1) 63 (2) 49
(3) 57 (4) 61

7. Select the option that is related
to the fifth number in the same
way as the second number is
related to the first number and
the fourth number is related to
the third number.

ml fodYi dk p;u djsa tks ikapoha la[;k
ls mlh çdkj lacaf/r gS tSls nwljh la[;k
igyh la[;k ls lacaf/r gS vkSj pkSFkh la[;k
rhljh la[;k ls lacaf/r gSA
9 : 730 : : 5 : 126 : : 7 : ?
(1) 354 (2) 344
(3) 364 (4) 342
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8. E is the brother of F. D is the wife
of E. G is the mother of H. F is the
sister of G. How is E related to H?

E] F dk HkkbZ gSA D, E dh iRuh gSA G, H

dh ek¡ gSA F, G dh cgu gSA E, H ls dSls
lacaf/r gS\
(1) Maternal uncle/ekek
(2) Son/csVk
(3) Brother in law/nsoj
(4) Son in law/nkekn

9. In the given word pairs, the first
word is related to the second
word following a certain logic.
Study the given pairs carefully,
and from the given options,
select the pair that follows the
same logic.

fn, x, 'kCn ;qXeksa esa] igyk 'kCn ,d fuf'pr
rdZ ds vuqlkj nwljs 'kCn ls lacaf/r gSA fn,
x, ;qXeksa dk è;kuiwoZd vè;;u dhft, vkSj
fn, x, fodYiksa esa ls ml ;qXe dks pqfu, tks
leku rdZ dk vuqlj.k djrk gksA
Captivity : Imprisonment/canh %
dkjkokl
(1) Cheap : Dear/lLrk % fç;
(2) Dense : Opaque/l?ku % vikjn'khZ
(3) Accept : Deny/Lohdkj djuk %

vLohdkj djuk
(4) Agree : Disagree/lger % vlger

10. How many maximum triangles
are there in the given figure?

nh xbZ vkÑfr esa vf/dre fdrus f=kHkqt gSa\

(1) 20 (2) 12
(3) 14 (4) 17

11. In a certain code language,
'WER' is coded as 'APPWGO'.
What is the code for 'DEFINE' in
that code language?

,d fuf'pr dksM Hkk"kk esa] 'WER' dks
'APPWGO' ds :i esa dksfMr fd;k x;k
gSA mlh dwV Hkk"kk esa 'DEFINE' ds fy,
dwV D;k gksxk\
(1) DGCIPB (2) DGCJPD
(3) DGCIQD (4) DGCIBB

12. In the following question, select
the odd word pair from the given
alternatives.

fuEufyf•r ç'u esa fn, x, fodYiksa esa ls
fo"ke 'kCn ;qXe dks pqfu,A
(1) Question - Answer/ç'u & mÙkj
(2) Pencil - Rub/isafly & jxM+uk
(3) Cup - Saucer/I;kyk & r'rjh
(4) Chair - Table/dqlhZ & est

13. Select the option in which the
number share the same
relationship in set as that
shared by the numbers in the
given set. (NOTE: Operations
should be performed on the
whole numbers, without
breaking down the numbers into
its constituent digits.
E.g.13 - Operations on 13 such
as adding /subtracting /
multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then performing
mathematical operations on 1
and 3 is not allowed)

ml fodYi dk p;u djsa ftlesa la[;k lsV
esa ogh laca/ lk>k djrh gS tks fn, x, lsV
esa la[;kvksa }kjk lk>k fd;k tkrk gSA (è;ku
nsa% la[;kvksa dks muds ?kVd vadksa esa foHkkftr
fd, fcuk] iw.kZ la[;kvksa ij lafØ;k,¡ fu"ikfnr
dh tkuh pkfg,A
mnkgj.k 13 & 13 ij lafØ;k,¡ tSls 13 esa
tksM+uk@?kVkuk@xq.kk djuk vkfn fu"ikfnr dh
tk ldrh gSaA 13 dks 1 vkSj 3 esa rksM+uk vkSj
fiQj 1 vkSj 3 ij xf.krh; lafØ;k,¡ djus
dh vuqefr ugha gS)
(392, 29, 449)
(395, 31, 566)
(1) (486, 32, 538)
(2) (391, 45, 834)
(3) (487, 34, 809)
(4) (562, 35, 594)

14. If a mirror is placed on the line
AB, then out of the option
figures which figure will be the
right image of the question
figure?

;fn js•k AB ij ,d niZ.k j•k tk,] rks
nh xbZ fodYiksa esa ls dkSu&lh vkÑfr ç'u
vkÑfr dk lgh çfrfcEc gksxh\

(1) (2)

(3) (4)

15. In the following question below
are given some statements
followed by some conclusions
based on those statements.
Taking the given statements to
be true even if they seem to be at
variance from commonly known
facts. Read all the conclusions and
then decide which of the given
conclusion logically follows the
given statements.

uhps fn, x, ç'u esa dqN dFku fn, x, gSa
vkSj mu dFkuksa ds vk/kj ij dqN fu"d"kZ
fn, x, gSaA fn, x, dFkuksa dks lR; ekuuk
Hkys gh os loZKkr rF;ksa ls fHkUu çrhr gksrs
gksaA lHkh fu"d"kks± dks i<+sa vkSj fiQj r; djsa
fd fn, x, fu"d"kks± esa ls dkSu lk fu"d"kZ
rkfdZd :i ls fn, x, dFkuksa dk vuqlj.k
djrk gSA
Statements:/dFku%
I. Some H are D./dqN H] D gSaA
II. All D are M./lHkh D] M gSaA
Conclusions:

I. Some M are D./dqN M] D gSaA
II. Some H are M./dqN H] M gSaA
III. Some D are H./dqN D] H gSaA
(1) Both conclusions I and III

follows/fu"d"kZ I vkSj III nksuksa
vuqlj.k djrs gSa

(2) Both conclusions II and III

follows/nksuksa fu"d"kZ II vkSj III

vuqlj.k djrs gSa
(3) All conclusion follows/lHkh

fu"d"kZ vuqlj.k djrs gSa
(4) Both conclusions I and II

follows/nksuksa fu"d"kZ I vkSj II

vuqlj.k djrs gSa
16. In the following question, four

number pairs are given. In each
pair the number on left side of (-)
is related to the number of the
right side of (-) with some Logic/
Rule /Relation. Three pairs are
similar on basis of same Logic/
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Rule/Relation. Select the odd
one out from the given
alternatives. (NOTE: Operations
should be performed on the whole
numbers, without breaking down
the numbers into its constituent
digits. E.g.3 - Operations on 13
such as adding /subtracting /
multiplying etc. to 13 can be
performed. Breaking down 13 into
1 and 3 and then performing
mathematical
operations on 1 and 3 is not
allowed)

fuEufyf•r ç'u esa pkj la[;k ;qXe fn, x,
gSaA çR;sd tksM+h esa (&) ds ckbZa vksj dh
la[;k (&) ds nkbZa vksj dh la[;k ls dqN
rdZ@fu;e@laca/ ds lkFk lacaf/r gSA leku
rdZ@fu;e@laca/ ds vk/kj ij rhu tksM+s leku
gSaA fn, x, fodYiksa esa ls fo"ke dks pqfu,A
(è;ku nsa% la[;kvksa dks muds ?kVd vadksa esa
foHkkftr fd, fcuk] iw.kZ la[;kvksa ij
lafØ;k,¡ fu"ikfnr dh tkuh pkfg,A
mnkgj.k 3 & 13 ij lafØ;k,¡ tSls 13 esa
tksM+uk@?kVkuk@xq.kk djuk vkfn fd;k tk
ldrk gSA 13 dks 1 vkSj 3 esa rksM+uk vkSj
fiQj xf.krh; çn'kZu djuk 1 vkSj 3 ij
lapkyu dh vuqefr ugha gS)
(1) 3926 - 7852
(2) 7624 - 15248
(3) 1658 - 3216
(4) 5826 - 11652

17. In the following question, four
number pairs are given. In each
pair the number on left side of (-)is
related to the number of the right
side of (-)with some Logic/Rule /
Relation. Three pairs are similar
on basis of same Logic/Rule/
Relation. Select the odd one out
from the given alternatives. (NOTE:
Operations should be performed on
the whole numbers, without
breaking down the numbers into
its constituent digits. E.g.13 -
Operations on 13 such as adding /
subtracting /multiplying etc. to 13
can be performed. Breaking down
13 into 1 and 3 and then performing
mathematical operations on 1 and
3 is not allowed)

fuEufyf•r ç'u esa pkj la[;k ;qXe fn,
x, gSaA çR;sd tksM+h esa (&) ds ck;ha vksj
dh la[;k (&) ds nk;ha vksj dh la[;k ls
dqN rdZ@fu;e@laca/ ds lkFk lacaf/r gSA
leku rdZ@fu;e@laca/ ds vk/kj ij rhu

tksM+s leku gSaA fn, x, fodYiksa esa ls fo"ke
dks pqfu,A (è;ku nsa% la[;kvksa dks muds
?kVd vadksa esa foHkkftr fd, fcuk] iw.kZ
la[;kvksa ij lafØ;k,¡ dh tkuh pkfg,A
mnkgj.k 13 & 13 ij lafØ;k,¡ tSls 13 esa
tksM+uk@?kVkuk@xq.kk djuk vkfn fu"ikfnr dh
tk ldrh gSaA 13 dks 1 vkSj 3 esa foHkkftr
djuk vkSj fiQj 1 vkSj 3 ij xf.krh;
lafØ;k,¡ djus dh vuqefr ugha gS)
(1) 260 - 1560 (2) 540 - 3240
(3) 480 - 2860 (4) 320 - 1920

18. If a mirror is placed on the line
AB, then out of the option
figures which figure will be the
right image of the question

figure?/;fn js•k AB ij ,d niZ.k j•k
tk,] rks nh xbZ fodYiksa esa ls dkSu&lh
vkÑfr ç'u vkÑfr dk lgh çfrfcEc
gksxh\

(1) (2)

(3) (4)

19. In the following question, select
the missing number from the
given series.

fuEufyf•r ç'u esa] nh xbZ J̀a•yk ls yqIr
la[;k dk p;u djsaA
47, 49, 53, 61, 77, ?, 173
(1) 103 (2) 109
(3) 99 (4) 111

20. In the following question, select
the related letters from the given

alternatives./fuEufyf•r ç'u esa fn,
x, fodYiksa esa ls lacaf/r v{kjksa dks pqfu,A
NR : OT :: PS : ?
(1) QO (2) XU
(3) NU (4) QU

21. Select the figure from the
given alternatives.

fn, x, fodYiksa esa ls vkÑfr dks pqfu,A

(1) (2)

(3) (4)

22. In the following question, select
the odd letter/letters from the
given alternatives.

fuEufyf•r ç'u esa fn, x, fodYiksa esa ls
fo"ke v{kj@v{kjksa dks pqfu,A
(1) RTW (2) FHK
(3) SVY (4) KMP

23. Select the option figure in
which the given figure is
embedded. (Rotation is NOT
allowed).

ml fodYi vkÑfr dk p;u djsa ftlesa nh
xbZ vkÑfr lfUufgr gSA (jksVs'ku dh vuqefr
ugha gS)A

(1) (2)

(3) (4)

24. In a certain code language,
'WOULD + ALL' is coded as '8',
'MAJOR + EXAMS' is coded as '10'.
What is the code for 'COMMON
+ NOW' in that code language?

,d fuf'pr dksM Hkk"kk esa] 'WOULD +

ALL' dks '8' ds :i esa dksfMr fd;k tkrk
gS] 'MAJOR + EXAMS' dks '10' ds
:i esa dksfMr fd;k tkrk gSA ml dwV Hkk"kk
esa 'COMMON + NOW' dk dwV D;k
gksxk\
(1) 2 (2) 5
(3) 9 (4) 6
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25. Arrange the given words in the
sequence in which they occur
in the dictionary.

fn, x, 'kCnksa dks ml Øe esa O;ofLFkr djsa
ftlesa os 'kCndks'k esa vkrs gSaA
1. Migrate
2. Migrant
3. Might
4. Migrator
5. Mig
(1) 3,5,1,4,2 (2) 5,3,2,1,4
(3) 3,1,4,5,2 (4) 5,3,1,2,4

QUANTITATIVE APTITUDE
1. What will be the average of the

first 8 positive even numbers
divisible by 9?

9 ls foHkkT; çFke 8 /ukRed le la[;kvksa
dk vkSlr D;k gksxk\
(1) 45 (2) 72
(3) 81 (4) 63

2. If cosec + cot = s, then what
is the value of cos ?

;fn cosec + cot = s] rks  dk eku
D;k gS\

(1)
2

2

1

1

s

s




(2)

2

2

1

1

s

s





(3)
2 1

2

s

s


(4) 2

2

1

s

s 

3. The line chart given shows the
cost price and value of profit of
6 articles L, M, N, O, P and Q.

   

Selling price = Cost price +
Profit
A1 = The value of average
selling price of all articles.
A2 = The value of average cost
price of L, M, N and O.
What is the value of (A1 + A2)?

fn;k x;k ykbu pkVZ 6 oLrqvksa L] M] N]

O, P vkSj Q dk ykxr ewY; vkSj ykHk dk
ewY; n'kkZrk gSA
foØ; ewY; = ykxr ewY; $ ykHk
A1 = lHkh oLrqvksa ds vkSlr fcØh ewY;
dk ewY;A

A2 = L, M, N vkSj O ds vkSlr ykxr
ewY; dk ewY;A
(A1 + A2) dk eku D;k gS\
(1) 1875 (2) 1425
(3) 1675 (4) 1025

4. If (p – q) = 6, 6(r – q) = 5 and (r –
p) = 3, then find the value of (p3

+ q3 + r3 – 3pqr)/(p + q + r)

;fn (p – q) = 6] 6(r – q) = 5 vkSj (r –
p) = 3 gS] rks (p3 + q3 + r3 – 3pqr)/

(p + q + r) dk eku Kkr dhft,A
(1) 35 (2) 45
(3) 30 (4) 40

5. If angle made by a chord on the
major arc of a circle is 50
degree, then what will be the
angle made by same chord the
minor arc of this circle?

;fn ,d thok }kjk o`Ùk ds nh?kZ pki ij
cuk;k x;k dks.k 50 fMxzh gS] rks mlh thok
}kjk bl o`Ùk ds y?kq pki ij cuk;k x;k
dks.k D;k gksxk\
(1) 120 degree (2) 130 degree
(3) 80 degree (4) 100 degree

6. If sin/(cot + cosec) = 1, then
what is the value of ?

;fn sin/(cot + cosec) = 1 gS]
rks  dk eku D;k gS\
(1) 30° (2) 90°
(3) 0° (4) 45°

7. A sum of Rs. 3000 is invested
in a scheme of simple interest.
The rate of interest in this
scheme is 10 percent per
annum. If Rs. 1200 interest is
obtained, then for how many
months is the sum invested?

#i;s dh jkf'kA 3000 lk/kj.k C;kt dh ,d
;kstuk esa fuos'k fd;k tkrk gSA bl ;kstuk
esa C;kt nj 10 iQhlnh lkykuk gSA ;fn #-
1200 dk C;kt çkIr gksrk gS] rks fdrus
eghus ds fy, fuos'k fd;k tkrk gS\
(1) 30 months (2) 36 months
(3) 40 months (4) 48 months

8. The line chart given below
shows the population of two
states A and B in years.
What is the difference between
the average population of A and
B in all the years?

uhps fn;k x;k ykbu pkVZ nks jkT;ksa A vkSj
B dh tula[;k dks o"kks± esa n'kkZrk gSA
lHkh o"kks± esa A vkSj B dh vkSlr tula[;k
ds chp fdruk varj gS\

(1) 30 (2) 40
(3) 50 (4) 60

9. The downstream speed of a boat
is 25 km/hr and the speed of
stream is 3 km/hr. What will
be the total time taken by the
boat to cover 100 km
dowstream and 57 km
upstream?

,d uko dh /kjk ds vuqdwy xfr 25
fdeh@?kaVk gS vkSj /kjk dh xfr 3 fdeh@?kaVk
gSA uko }kjk /kjk ds vuqdwy 100 fdeh
vkSj /kjk ds çfrdwy 57 fdeh dh nwjh r;
djus esa dqy fdruk le; yxsxk\
(1) 10 hours (2) 7 hours
(3) 10.5 hours (4) 8 hours

10. How many numbers are there
from 17 to 457 which are
divisible by both 5 and 3?

17 ls 457 rd ,slh fdruh la[;k,¡ gSa tks
5 vkSj 3 nksuksa ls foHkkT; gSa\
(1) 29 (2) 35
(3) 30 (4) 33

11. If a = 10 and b = 3, then what is

the value of 
 

2

2 2

a b

a b




?

;fn a = 10 vkSj b = 3 gS] rks  
2

2 2

a b

a b





dk eku D;k gS \
(1) 182/93 (2) 169/91
(3) 185/91 (4) 185/93

12. The product of two consecutive
prime numbers is 7387. What
is the difference of the two
numbers?

nks Øekxr vHkkT; la[;kvksa dk xq.kuiQy
7387 gSA nksuksa la[;kvksa dk varj D;k gS\
(1) 3 (2) 6
(3) 2 (4) 4

13. The table given below shows the
percentage distribution of the
total number of male faculties in
six different school's. Numbers
of males in any school is shown
as the percentage of total of
males in all these schools.
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Total male faculties in all
schools together = 8400
If the ratio of male faculties to
female faculties in school A and
school B is 2 : 5 and 4 : 3
respectively, then find the
difference in total female faculties
in school A and school B

uhps nh xbZ rkfydk Ng vyx&vyx Ldwyksa
esa iq#"k ladk;ksa dh dqy la[;k dk çfr'kr
forj.k n'kkZrh gSA fdlh Hkh Ldwy esa iq#"kksa
dh la[;k dks bu lHkh Ldwyksa esa dqy iq#"kksa
ds çfr'kr ds :i esa fn•k;k x;k gSA
lHkh Ldwyksa esa feykdj dqy iq#"k ladk; ¾
8400 ;fn Ldwy A vkSj Ldwy B esa iq#"k
ladk;ksa dk efgyk ladk;ksa ls vuqikr Øe'k%
2% 5 vkSj 4% 3 gS] rks fo|ky; A vkSj
fo|ky; B esa dqy efgyk ladk;ksa esa varj
Kkr dhft,A

A 10%

B 20%

C 24%

D 16%

E 12%

F 18%

(1) 840 (2) 920
(3) 1500 (4) 760

14. KLM is right angled triangle
M = 90 degree, KM = 12 cm
and LM = 5 cm. What is the
value of sec L?

KLM ledks.k f=kHkqt M = 90 fMxzh]
KM = 12 lseh vkSj LM = 5 cm lseh
gSA lsdaM L dk eku D;k gS\
(1) 13/12 (2) 5/12
(3) 12/5 (4) 13/5

15. Anuj started a business by
investing Rs. 30,000, after 6
months Ajay joined him with a
capital of Rs 45,000. After
another 3 months. Ankit joined
him with a capital of Rs. 60,000.
At the end of the year, profit is
Rs. 18,000. Find the share of
Anuj in the profit.

vuqt us 30]000 #i;s dk fuos'k djds ,d
O;olk; 'kq: fd;kA 6 eghus ckn vt;
45]000 #i;s dh iwath ds lkFk mlds lkFk
tqM+ x;kA ,d vkSj 3 eghus ds cknA vafdr
us 60]000 #i;s dh iwath ds lkFk mlds lkFk
tqM+ x;kA o"kZ ds var esa] ykHk #A 18]000A
ykHk esa vuqt dk fgLlk Kkr dhft,A

(1) Rs. 6000 (2) Rs. 12,000
(3) Rs. 8000 (4) Rs.10,000

16. 150 litre mixture of milk and
water contains 30 percent
milk. How much more milk
must be added to make water
percentage in the mixture as

40 percent?/nw/ vkSj ikuh ds 150
yhVj feJ.k esa 30 çfr'kr nw/ gSA feJ.k
esa ikuh dk çfr'kr 40 çfr'kr djus ds
fy, fdruk nw/ vkSj feyk;k tkuk pkfg,\
(1) 120.5 litre (2) 157.5 litres

(3) 132.5 litres (4) 112.5 litres
17. In a JKL, O is the orthocenter

of this triangle. K = 55 degree
and KOL = 120 degree. What
is the value of JLK?

JKL esa] O bl f=kHkqt dk vkWFkkZslsaVj gSA
K = 55 fMxzh vkSj KOL = 120

fMxzhA JLK dk ewY; D;k gS\
(1) 60 degree (2) 65 degree
(3) 55 degree (4) 70 degree

18. PQRS is a cyclic quadrilateral
In PQRS P is opposite to R. If
P and R are 3x + 5 and 4x
respectively, then what is the

value of x?/PQRS ,d pØh; prqHkZqt
gSA PQRS esa P, R ds foijhr gSA ;fn
P vkSj R Øe'k% 3x + 5 vkSj 4x gSa]
rks x dk eku D;k gS\
(1) 28 degree (2) 35 degree

(3) 25 degree (4) 30 degree
19. A solid cylinder having radius

of base as 7 cm and height as 5
cm is bisected from its height
to get two indentical cylinders.
What will be the percentage
increased in the total surface

area?/,d Bksl csyu] ftlds vk/kj dh
f=kT;k 7 ls-eh- vkSj ÅapkbZ 5 ls-eh- gS] dks
mldh ÅapkbZ ls nks leku csyu çkIr djus
ds fy, f}Hkkftr fd;k tkrk gSA dqy ì"Bh;
{ks=kiQy esa fdrus çfr'kr dh o`f¼ gksxh\
(1) 58.33 percent

(2) 64.56 percent
(3) 69.44 percent
(4) 52.56 percent

20. Nikhil buys a diamond ring for
his wife. Diamond ring is
marked at Rs. 20,000 and two
successive discounts at 25%
and x% respectively are given.
After getting two successive
distcounts, he paid Rs. 12,000.
Find the value of x.

fuf•y viuh iRuh ds fy, ghjs dh vaxwBh
•jhnrk gSA ghjs dh vaxwBh 20]000 #i;s ij
vafdr gSA vkSj Øe'k% 25» vkSj x» ij nks
yxkrkj NwV nh tkrh gSA yxkrkj nks NwV
çkIr djus ds ckn] mlus 12]000 #i;s dk
Hkqxrku fd;kA ,Dl dk eku Kkr djsaA

(1) 40% (2) 10%

(3) 20% (4) 35%

21. Anuj's efficiency is 150 percent
of Vinod's efficiency. If Anuj can
complete a work in 20 days,
then how many days will they
together take to complete the
same work?

vuqt dh dk;Zdq'kyrk] fouksn dh dk;Z{kerk
dh 150 çfr'kr gSA ;fn vuqt fdlh dk;Z dks
20 fnuksa esa iwjk dj ldrk gS] rks os feydj
mlh dk;Z dks fdrus fnuksa esa iwjk djsaxs\

(1) 6 days (2) 9 days

(3) 15 days (4) 12 days

22. What is the value of (a + b)2 + (a
– b)2 ?

(a + b)2 + (a – b)2 dk eku D;k gS\

(1) 8ab (2) 4ab

(3) 4(a2 + b2) (4) 2(a2 + b2)

23. Sum of the angles made by a
chord XY at the centre and on
the circumference of the circle
is 270 degree. If radius of this
circle is 24 cm, then what will
be length of this chord?

thok XY }kjk o`Ùk ds dsaæ vkSj ifjf/ ij
cus dks.kksa dk ;ksx 270 fMxzh gksrk gSA ;fn
bl òÙk dh f=kT;k 24 lseh gS] rks bl thok
dh yackbZ D;k gksxh\

(1) 60 cm (2) 12 cm

(3) 36 cm (4) 48 cm

24. The table below shows number
of workers and their daily
wages. What is the ratio of the
total number of workers whose
daily wages are less than Rs.
450 to the total number of
workers whose daily wages are
Rs. 650?

uhps nh xbZ rkfydk Jfedksa dh la[;k vkSj muds
nSfud osru dks n'kkZrh gSA mu Jfedksa dh dqy
la[;k dk vuqikr D;k gS ftudh nSfud etnwjh
#i;s ls de gSA 450 Jfedksa dh dqy la[;k
ftudh nSfud etnwjh 650 # \
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Number of Daily wages

workers  (inRs.)

30 400

45 450

65 500

60 550

55 600

35 650

(1) 5 : 7 (2) 3 : 5
(3) 1 : 4 (4) 6 : 7

25. The ratio of incomes of C and
D is 3 : 4 respectively. The sum
of their expenditure is Rs.
12000. Savings of C is same as
that of the expenditure of D.
What is the sum of their
savings?

C vkSj D dh vk; dk vuqikr Øe'k% 3
% 4 gSA muds O;; dk ;ksx #i;s gSA 12000-
C dh cpr D ds O;; ds cjkcj gSA mudh
cpr dk ;ksx D;k gS\
(1) Rs. 25000 (2) Rs. 15000
(3) Rs. 20000 (4) Rs. 16000

GENERAL AWARENESS
1. In _____, the East India Company

acquired a charter from the ruler
of England, Queen Elizabeth I,
granting it the sole right to trade

with the East./_____ esa] bZLV bafM;k
daiuh us baXySaM ds 'kkld egkjkuh ,fytkcsFk
çFke ls ,d pkVZj çkIr fd;k] ftlus bls
iwoZ ds lkFk O;kikj djus dk ,dek=k vf/
dkj çnku fd;kA
(1) 1600 (2) 1610
(3) 1620 (4) 1580

2. Which among the following has
the highest boiling point?/

fuEufyf•r esa ls fdldk DoFkukad lcls
vf/d gS\
(1) NaCl (2) CaO
(3) CaCl2 (4) LiCl

3. Which of the following pairs of
"player - sports" is correct?

fuEufyf•r esa ls "f•ykM+h & •sy" dk
dkSu lk ;qXe lgh gS\
I. Vicky Ostwal - Cricket/foDdh

vksLroky & fØdsV
II. hu Malik - Wrestling/gw efyd

& dq'rh
(1) Both I and II/I vkSj II nksuksa

(2) Only I/dsoy I
(3) Only II/dsoy II
(4) Neither I nor II/u rks I vkSj u gh

II
4. Which of the following state-

ments is NOT correct with re-
spect to the poverty line?
I. In India, it is normally

estimated after every ten
years.

II. The proportion of people below
poverty line is not same for
all social groups and
economic categories in India.

fuEufyf•r esa ls dkSu lk dFku xjhch js•k
ds laca/ esa lgh ugha gS\
I- Hkkjr esa] vkerkSj ij gj nl lky ckn

bldk vuqeku yxk;k tkrk gSA
II xjhch js•k ls uhps ds yksxksa dk vuqikr

Hkkjr esa lHkh lkekftd lewgksa vkSj
vkfFkZd Jsf.k;ksa ds fy, leku ugha gSA

(1) Both I and II/I vkSj II nksuksa
(2) Only II/dsoy II
(3) Neither I nor II/u rks I Sa vkSj u

gh II
(4) Only I/dsoy I

5. What is Tat Vadya?/rkr o| D;k gS \
(1) Percussion instruments/

rcyk ok| ;a=k
(2) Stringed instruments/rarq ok|

;a=k
(3) Solid instruments/Bksl ;a=k
(4) Wind instruments/iou ;a=k

6. Who crowned Vanessa Ponce De
eon from Mexico as the winner
at the 68th Edition of the
Prestigious Miss World Pageant
held at Sanya?

lkU;k esa vk;ksftr çfrf"Br fel oYMZ istsaV
ds 68 osa laLdj.k esa fotsrk ds :i esa
esfDldks dh oSuslk iksal Mh bvkWu dks fdlus
rkt iguk;k\
(1) Nadia Ferreira/ukfn;k iQjsjk
(2) Manya Singh/ekU;k flag
(3) Lara Dutta/ykjk nÙkk
(4) Manushi Chillar/ekuq"kh fNYyj

7. Which among the following
Constitutional Amendment Act
of the Indian constitution
reduced the age of voting from
21 to 18 for elections to the Lok
Sabha and to the Legislative
Assemblies of states?

Hkkjrh; lafo/ku ds fuEufyf•r laoS/kfud
la'kks/u vf/fu;e esa ls fdl vf/fu;e us
yksdlHkk vkSj jkT;ksa dh fo/ku lHkkvksa ds
pqukoksa ds fy, ernku dh vk;q 21 ls
?kVkdj 18 dj nh\
(1) 81st (2) 61st
(3) 52nd (4) 72nd

8. Which Constitution Amendment
Act added provisions related to
Municipalities in the Indian
Constitution?

fdl lafo/ku la'kks/u vf/fu;e us Hkkjrh;
lafo/ku esa uxj ikfydkvksa ls lacaf/r çko/
kuksa dks tksM+k\
(1) 97th Amendment Act 2011/

97ok¡ la'kks/u vf/fu;e 2011
(2) 71st Amendment Act 1992/

71ok¡ la'kks/u vf/fu;e 1992
(3) 74th Amendment Act 1992/

74ok¡ la'kks/u vf/fu;e 1992
(4) 69th Amendment Act 1993/

69ok¡ la'kks/u vf/fu;e 1993
9. Who among the following has

been appointed as new chief
Economic Advisor of India in
January 2022?

fuEufyf•r esa ls fdls tuojh 2022 esa
Hkkjr dk u;k eq[; vkfFkZd lykgdkj fu;qÙkQ
fd;k x;k gS\
(1) K.V.S. Subramaniam/ds-oh-,l-

lqcze.;e
(2) V. Anantha Nageswaran/oh

vuar ukxs'oju
(3) Shaktikanta Das/'kfÙkQdkar nkl
(4) Raghuram Rajan/j?kqjke jktu

10. Which among the following
statements about secondary
memory is incorrect?

lsdsaMjh eseksjh ds ckjs esa fuEufyf•r esa ls
dkSu lk dFku xyr gS\
(1) It is known as a backup

memory./bls cSdvi eseksjh ds :i
esa tkuk tkrk gSA

(2) It is used for storing data./

bldk mi;ksx MkVk LVksj djus ds fy,
fd;k tkrk gSA

(3) It is a volatile memory./;g
,d vfLFkj Le`fr gSA

(4) These are magnetic and

optical memories./;s pqacdh;
vkSj vkWfIVdy ;knsa gSaA

11. G20 Foreign Ministers meeting
2022 was held in which of the
following countries?
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G20 fons'k eaf=k;ksa dh cSBd 2022 fuEufyf•r
esa ls fdl ns'k esa vk;ksftr dh xbZ Fkh\
(1) Britain/fczVsu (2) India/Hkkjr
(3) France/Úkal (4) Indonesia/

baMksusf'k;k
12. Who among the following became

the first-ever Indian cricket
player to play 400 T20s?/

fuEufyf•r esa ls dkSu 400 T20 •syus
okyk igyk Hkkjrh; fØdsV f•ykM+h cuk\
(1) Rohit Sharma/jksfgr 'kekZ
(2) Dinesh Karthik/fnus'k dkfrZd
(3) Virat Kohli/fojkV dksgyh
(4) Mahendra Singh Dhoni/egsaæ

flag /ksuh
13. Who among the following is one

of the recipients of the
Dadasaheb Phalke Awards?/

fuEufyf•r esa ls dkSu nknk lkgc iQkYds
iqjLdkj çkIr djus okyksa esa ls ,d gS\
(1) Boman Irani/ckseu bZjkuh
(2) Dharmendra//eZsaæ
(3) Sanjay Dutt/lat; nÙk
(4) Shashi Kapoor/'kf'k diwj

14. In which of the following soil
conservation methods different
crops are grown in al ternate
rows and are sown at different
times to protect the soil from

rain wash?/fuEufyf•r esa ls fdl ènk
laj{k.k fof/ esa fofHkUu iQlyksa dks ckjh&ckjh
ls iafÙkQ;ksa esa mxk;k tkrk gS vkSj feêðh dks
ckfj'k ds ikuh ls cpkus ds fy, vyx&vyx
le; ij cks;k tkrk gS\
(1) Shelter belts/vkJ; csYV
(2) Contour ploughing/leksPp tqrkbZ
(3) Terrace farming/lh<+hnkj •srh
(4) Intercropping/baVjØkWfiax

15. It is a tropical as well as a
subtropical crop. It grows well in
hot and humid climate with a
temperature of 21°C to 27°C and
an annual rainfall between
75cm. and 100cm. Which of the
crop is being talked about in the
information given above?

;g ,d m".kdfVca/h; vkSj lkFk gh ,d
miks".kdfVca/h; iQly gSA ;g 21°C ls
27°C ds rkieku vkSj 75cm- vkSj
100cm ds chp okf"kZd o"kkZ ds lkFk xeZ
vkSj vkæZ tyok;q esa vPNh rjg ls c<+rk gSA
Åij nh xbZ tkudkjh esa fdl iQly dh ckr
dh tk jgh gS\

(1) Sugarcane/xUuk
(2) Cotton/dikl
(3) Maize/eDdk
(4) Rubber/jcM+

16. Which of the following shortcut
key is used to print a file in MS-
Word 365?

,e ,l&oMZ 365 esa iQkby dks fçaV djus ds
fy, fuEu esa ls fdl 'kkWVZdV dqath dk
ç;ksx fd;k tkrk gS\
(1) Ctrl + P (2) Shift + P
(3) Ctrl + Alt + P (4) Alt + P

17. When was the Bardoli
Movement launched?

ckjMksyh vkanksyu dc 'kq: fd;k x;k Fkk \
(1) 1931 (2) 1932
(3) 1928 (4) 1925

18. Which of the following is an
extinct species?

fuEufyf•r esa ls dkSu lh foyqIr çtkfr gS\
(1) Hornbill/gkWuZfcy
(2) Andaman wild pig/vaMeku taxyh

lqvj
(3) Pink head duck/xqykch flj okyh

cÙk•
(4) Andaman teal/vaMeku pkSrh

19. The leaders of the Shanghai
Cooperation Organization (SCO)
have endorsed the city of ______
as the first ever tourist and
cultural capital of the grouping
for the year 2022-23

'ka?kkbZ lg;ksx laxBu (,llhvks) ds usrkvksa
us o"kZ 2022&23 ds fy, lewg dh igyh
i;ZVd vkSj lkaLÑfrd jkt/kuh ds :i esa
______ 'kgj dk leFkZu fd;k gSA
(1) Chennai/psUubZ
(2) Ujjain/mTtSu
(3) Varanasi/okjk.klh
(4) Ayodhya /v;ksè;k

20. Which among the following is
India's first corporatized port?

fuEufyf•r esa ls dkSu lk Hkkjr dk igyk
fuxfer canjxkg gS\
(1) Kochi/dksfPp
(2) Kandla/dkaMyk
(3) Mangalore/eSaxyksj
(4) Ennore/,Uuksj

21. Which of the following team won

the Durand Cup 2022?/fuEufyf•r
esa ls fdl Vhe us MwjaM di 2022 thrk\

(1) Bengaluru FC/csaxyq# ,iQlh

(2) FC Goa/,iQlh xksok

(3) Mohammedan SC/eksgEeMu
,l-lh

(4) Mumbai City FC/eqacbZ flVh ,iQlh
22. When an iron nail is dipped into

a ______ coloured copper
sulphate solution, its colour
changes to ______.

tc yksgs dh dhy dks dkWij lYiQsV ds
jaxhu foy;u esa Mqck;k tkrk gS] rks mldk
jax ______ gks tkrk gSA

(1) green, blue/gjk] uhyk

(2) blue, green/uhyk] gjk

(3) blue, yellow/uhyk] ihyk

(4) yellow, blue/ihyk] uhyk
23. The collection of all bundles that

the consumer can buy with her
income at the prevailing market
prices is called the ______.

lHkh caMyksa dk laxzg ftls miHkksÙkQk çpfyr
cktkj dherksa ij viuh vk; ls •jhn
ldrk gS] ______ dgykrk gSA

(1) Budget set/ctV lsV

(2) Budget constraint/ ctV dh deh

(3) Budget anomaly/ctV folaxfr

(4) Budget line/ctV js•k
24. Due to deficiency of which

mineral/vitamin, does the
glands in the neck appear
swollen?

fdl •fut@foVkfeu dh deh ls xnZu dh
xzafFk;ka lwt tkrh gSa\

(1) Vitamin C/foVkfeu lh

(2) Vitamin D/foVkfeu Mh

(3) Iodin/vk;ksMhu

(4) Calcium/dSfY'k;e
25. Where is the World Heritage

Site, Konark Sun Temple
situated in India?

fo'o fojklr LFky] dks.kkdZ lw;Z eafnj Hkkjr
esa dgk¡ fLFkr gS\

(1) Rajasthan/jktLFkku

(2) Madhya Pradesh/eè; çns'k

(3) Chhattisgarh/NÙkhlx<+

(4) Odisha/mM+hlk


